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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt
of this question paper.

2. This paper has 8 questions, out of which 5 have to
be done by the student.

3. Each question is of 18 marks.
4. Please attempt all parts of a question in one place.

5. Answers may be written either in English or Hindi;
but the same medium should be used throughout the
paper.
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1. (a)Derive and explain the concepts of deposit

multiplier and currency multiplier.

(b) Explain some of the factors that could lead to
financial crisis. Explain the role of asymmetric

information in detail in this context. (6,12)
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2. (a) Given required reserve ratio is 10%, desired excess
reserve ratio is 5% and desired currency to deposit
ratio is 25%, how does an open market purchase
of Rs. 500,000 change deposits, currency holdings
and money stock. How does your answer change
if the required reserve ratio rises to 20%?

(b) Differentiate between the base rate and Marginal
Cost of Funds based lending rate MCLR. How

are these rates useful in monetary transmission?
(6,12)
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3. (a) Explain the legal framework that allows the

Reserve Bank of India to function as a central
bank.

P.T.O.
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(b) Money supply in India can be affected by chan
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in monctary base and/or money multiplier Explaj
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4. (a) What is reserve money? List the sources of

changes in reserve money.

(b) Explain the impact of financial sector reforms since

1991 for the following sub sectors :

(1) Insurance sector
(ii) Non-bank financial companies (6,12)
(a7) sRferT evr =TT 27 SRRET T N wRad & e @l
U]

(@) FrffRes ST 85 W 1991 ¥ Reid &7 ER & T
6 ARAT HITT



2160 S

5.

6.
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(a) Differentiate between the prime lending rate

system and benchmark prime lending rate systems.

(b) It is not merely the number of instruments that is
important but the number of instrumenfs exerting
independent effects on the target variables.’
Explain this statement in the con"text of monetary

policy instruments and targets. (6,12)

() weH e Y Reew ik dwwe wEw o e fiww
& G AR il

(@) ‘Pact IuSON I GEA B AE T W AEqul © o
|Ed TR R AT T ST aTel TSRO et et
wEeEqut 21’ Wfgew AT TRl SR qEd w W A
T HYT H ARAT i

(2) Explain the problem of lemons in stock and bond

markets.

P.T.O.
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(b) Explain how the Expectation Market Hypothesis
and Segmented-Market Hypothesis are different
versions of the Preferred- Habitat Hypothesis.
Discuss with example. (6,12)
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Attempt any THREE of the following :

(2) Explain the difference between M, of second and
third working group feport of RBI.

(b) As information about firms become easier to
acquire, the role of banks reduces. Explain this
statement in the context of a security market

hypothesis.

(c) What is the yield curve? Explain the conditions in
which it can it downward sloping.

(d) According to the expectation hypothesis the yield
curve can slope upward, downward, and be a
straight line. Explain,
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(¢) List three monetary tools that RB| can use to

ieve 1ts monetary tarvete
achiey ary targets, (6,6,6)
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8. Attempt and TWO questions of the following :

(2) Briefly explain the expectation hypothesis. How
could future interest rates be forecast using the
expectation hypothesis?

P.T.O.
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(b) What are intermediate targets? Critically €Xamine

the rate of interest and money aggregates as

intermediate targets.

(c) Derive and explain the following: Deposit multiplier,

currency multiplier and complete money multiplier,

(9,9)
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